國立嘉義大學九十一學年度

生物藥學研究所碩士班招生考試試題

科目：有機化學

一、Select the best answer for the following questions :
1.Which alkyl halide would be the most reactive in an SN 2 reaction ? 
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2.Which alkyl halide would give the highest yield of the elimination product when treated
     with sodium ethoxide(C2H5O-Na+) in ethanol ?
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3.Which ion is the strongest nucleophile in an aprotic solvent such as dimethylsulfoxide (DMSO) ?

(a)I-  (b) Br-  (c)Cl-  (d)F-  (e)These are all equal
   4.Consider the substitution reaction that takes place when (R)-3- bromo-3-methylhexane is treated with methanol . Which of the following would be true ?

(a)The reaction would take place only with inversion of configuration at the stereocenter.

(b)The reaction would take place only with retention of configuration at the stereocenter.

(c)The reaction would take place with racemization .(d)No reaction would take place.

(e)The alkyl halide dose not possess a stereocenter

   5.Which type of spectroscopy would be most useful in distinguishing the following pair of
     compound                         and 

    (a) IR  (b) UV-Vis   (c) NMR   (d) Microwave  (e) MS
* Use the box below to answer questions (6) ~ (10)
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